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VCl-storage class = VCI(S2 S MBMIHE )0 A= StstHS2l oM &t
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WGK (=water-pollution class) = S0l 2lgt +=EHLES=22 EU 2

dg=2 0td. =4 M=0 O sS4 A2X0
2z HEHSES 032 4 A (0~-3)2
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WGK=0 = =0 RolictXl Z3S

WGK=1 = =0 &2t |olig
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VCl-concept = SSNEL ELITE FFote YY [4D] WGK EX)2
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RID = “HEO0 28t /g2 IMS 0 28 #E (Regulations
concerning the International Carriage of Dangerous Goods by

Rail)

ADR = “CZ20 28 IEg=E: FHNSS0 248 REHEE

(European Agreement concerning the International Carriage of

Dangerous Goods by Road)

GGVS = S2EZ22EY [ADR I 23]
GGVE = SLEE2SEY [RID & 23]
ADNR = “UE=2Z2terZ)ol 2gt g2 I M50 28 738
[Regulations for the transport of dangerous goods by vessel
on the German river “Rhein” (only inland navigation)]
IMDG = SMolaREE 254
(International Maritime Dangerous Goods)
ICAO-TI = SNt ZI+2 JlsXEA
(International Civil Aviation Organization - Technical Instruction)
® |ATA-DGR= =ZHMES258822 =25 +& (International Air
Transport Association - Dangerous Goods Regulation)
® BOD-= MIBSIAE AMARFEF (Biological Oxygen Demand)
® COD-= oSt AA QS (Chemical Oxygen Demand)

A

DOC = EZE5RJ|B A (Dissolved Organic Carbon)



LC50= 50 % XIAt=% (Lethal Concentration 50 % Kkill)

LD 50 = 50 % XIAHEF (Lethal Dose 50 % kill)
EC50= 50 % 2ZIFEE =S [Effect Concentration 50 %].
217,

SHEICIOH ()27 ORI sA2 HMT (HEEAT) <

50 %Jt gets 2= sk
ECO= 0% SFIesk [B 30 s =X = sK]
MAK= S2HFE 2l (German Research Association)
MAK’s Value= S2H &30t X &Est HFE FIE=sS



